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Fofi 1 F0ANOERE

(IF) (%)
P - 3 P - 3
oo TRy TR en sn o am sn en 7 sn en  won un|™PH oo TRy TR en sn o am sn en 7 sn en  won  1en|PH
S < F 435 745 545 144 364 1,237 330 242 317 297 222 192 370 5,005 S < F 435 745 545 144 364 1,237 330 242 317 297 222 192 370 5,005
F “ il 12 43 13 94 74 81 59 19 51 91 19 33 59 636 F “ il 12 43 13 94 74 81 59 19 51 91 19 33 59 636
[y i, L] 5 74 -15 28 -60 69 57 23 10 80 65 31 28 390 [y 175 L] 5 74 -15 28 -60 69 57 23 10 80 65 31 28 390
SR B Wil 34 57 -1 -20 32 3 8 14 46 51 36 57 39 322 2 E A B W 34 57 -1 -20 32 3 8 14 46 51 36 57 39 322
s i Ff -1 1 18 -3 -9 4 -13 -18 2 18 11 =31 4 -16 s i Ff -1 1 18 -3 -9 4 -13 -18 2 18 11 =31 4 -16
ji3 7| -21 11 13 -57 -30 7 -16 -19 9 -2 9 3 =27 -129 ji3 7| -21 11 13 -57 -30 7 -16 -19 9 -2 9 3 =27 -129
i B L] -3 21 -6 -10 4 =31 -16 -7 -18 -11 0 4 -18 -130 1 B L] -3 21 -6 -10 4 =31 -16 -7 -18 -11 0 4 -18 -130
koA | -4 11 15 83 -234 153 29 -35 16 144 -10 33 52 | -131 koA | -1 11 15 83 -234 153 29 -35 16 144 10 33 52 | -131
+ i T 15 -T2 -34 -39 -179 10 -11 -24 37 124 21 -7 6 -168 + i T 15 -T2 -34 -39 -179 10 -11 -24 37 124 21 -7 6 -168
) biid 7| -3 66 -41 -52 =27 -20 -20 -35 -15 16 -20 -16 -20 -184 ) biid 7| -3 66 -41 -52 =27 -20 -20 -35 -15 16 -20 -16 -20 -184
il ] il -23 3 -20 -49 -98 11 =31 -1 -6 43 7 0 37 -190 il ] il -23 3 -20 -49 -98 11 =31 -1 -6 43 7 0 37 -190
i ] 7| -22 -16 -9 -3 =51 ~12 -13 -22 -6 -16 16 -25 -19 -208 i ] 7| -22 -16 -9 -3 =51 ~12 -13 -22 -6 -16 16 -25 -19 -208
ES i) Ff -20 45 -5 -33 -23 54 5 -18 -29 -3 -25 21 -8 -259 ES i) Ff -20 45 -5 -33 -23 54 5 -18 -29 -3 -25 21 -8 -259
54 B 7| 24 -1 -31 ~18 -93 -58 -7 -25 -35 ~12 -4 ~13 -29 -326 54 B 7| 24 -1 -31 ~18 -93 -58 -7 -25 -35 ~12 -4 ~13 -29 -326
HE o4 o 48 -69 -17 -19 -49 -4 12 14 -88 -89 -39 17 -2 -333 HE o4 48 69 -17 -19 -49 -4 12 14 -88 -89 -39 17 -2 -333
4 x| -6 29 56 60 -154 99 -20 8 a1 54 21 35 32 | -337 4K | -6l 29 56 60  -154 99 20 8 -11 54 21 -35 32 | -337
b | 3 il -30 =31 -19 26 -86 =30 34 -18 -7 3 34 =30 -35 =347 b | 3 il -30 =31 -19 26 -86 =30 34 -18 -7 3 34 =30 -35 =347
T E3 il -17 -7 ~14 -48 -43 -85 -21 -40 16 -21 13 =27 46 -355 T E i -17 -7 ~14 -48 -43 -85 -21 -40 16 -21 13 =27 46 -355
N b L] -21 -20 -35 -8 -39 -39 26 27 34 -38 -23 —41 -39 -369 PN b L] -21 20 -35 -8 -39 -39 26 -27 34 -38 -23 —41 -39 -369
)i} [IE) il 29 -81 -7 -1 -104 72 -30 -25 -49 2 -40 -54 -28 -385 )i} e il 29 -81 -7 -1 -104 72 -30 -25 -49 2 -40 -54 -28 -385
JU T O Y =37 23 -4 7 -88 —41 -33 45 -51 -49 -29 55 -40 -405 VT -37 23 -4 7 -88 —41 -33 45 -51 -49 -29 55 -40 -405
WM 32 -9 20 29 99 81 19 31 71 48 22 29 02 | -412 FUNE I 32 -9 20 29 -9 -81 19 -31 -71 18 22 -29 02 | -412
N * L] -27 —42 -33 -40 -85 =31 47 -16 -25 —44 24 -15 -18 -420 PN * L] -27 —42 -33 -40 -85 =31 47 -16 25 —44 24 -15 -18 -420
b/ S I -14 =31 -68 -84 -97 2 48 15 =51 10 -55 -2 -12 -421 ~14 =31 -68 -84 -97 2 48 15 =51 10 55 -2 -12 -421
w Ik g -16 -29 47 —44 =75 79 48 =37 56 =35 -102 -5 -58 -457 w Ik g -16 -29 47 —44 =75 79 48 =37 56 =35 -102 -5 -58 -457
=1 #H -22 -59 -43 -43 -80 -A47 26 -28 -32 -28 -31 -40 -19 -476 =1 #H -22 -59 -43 -43 -80 -A47 26 -28 -32 -28 -31 -40 -19 -476
H & i 16 -78 -13 37 -127 =51 -19 -46 -49 23 -35 25 65 -494 H fa i 16 -78 -13 37 -127 =51 -19 -46 -49 23 -35 25 65 -494
% & | -2 16 -1 -10 62 65 -55 66 38 73 -76 71 -15 | -516 % & it 26 16 -1 -10 -62 -65 55 66 -38 73 -76 71 “15 | -516
i) i -5 -9 -9 =59 -183 -16 -49 -38 65 =79 -27 43 -10 -587 i) i -5 -9 -9 =59 -183 -16 -49 -38 65 =79 -27 43 -10 -587
WoBe oK B oW 82 78 81 -4 91 58 37 37 3 72 -57 52 8| -618 o T ] ) 78 81 -4 91 58 37 37 3 72 -57 52 8| -618
f=4 Ik il 64 26 -23 22 -156 =37 45 -88 -86 =90 61 75 24 -637 f=4 Ik il 64 26 -23 22 -156 =37 45 88 -86 =90 61 75 24 -637
Fia [ il -59 =34 -75 -42 ~124 62 =51 -46 -39 -74 65 -39 =51 =702 Fia [ il -59 =34 -75 -42 ~124 62 =51 -46 -39 -74 65 -39 =51 =702
B H i -32 36 97 —44 -182 -132 -36 —62 -68 65 -58 91 -99 =704 B H i -32 36 97 —44 -182 -132 -36 62 -68 —65 -58 91 -99 =704
i o% o | s -52 -68 23 -163 -57 -50 -69 50 -36 52 42 -7 | -709 It % W w51 52 68 23 -163 -57 -50 -69 -50 -36 52 42 -7 | -709
e I i =57 47 41 =59 -147 -80 45 —42 -69 —42 47 =37 -78 -734 e I i =57 47 41 =59 -147 -80 45 —42 -69 —42 47 =37 -78 -734
17 bl il =51 19 -6 —44 -131 ~123 66 ~55 -81 -58 -83 -41 65 -734 17 bl il =51 19 -6 —44 -131 -123 66 ~55 -81 -58 -83 -41 65 -734
O b7 il -91 =50 -16 73 —-254 26 -78 -99 -16 =59 45 64 44 -824 O b il -91 =50 -16 73 -254 26 -78 -99 -16 =59 45 64 44 -824
NOEE ﬁ -3 -91 -20 -33 =247 -128 =74 -8 1 -81 45 -58 54 -838 NOEE ﬁ -3 -91 -20 -33 =247 -128 =74 -8 1 -81 45 -58 54 -838
ko k) i 1 -38 -59 =79 -136 -148 -40 9 -102 25 =73 =70 -96 -857 ko k) i 1 -38 -59 =79 -136 -148 -40 9 -102 25 =73 =70 -96 -857
i i) il 61 -4 -29 ~54 -212 -82 -89 —65 -84 -46 -101 -74 -59 -899 B ic] i 61 -4 -29 ~54 -212 -82 -89 —65 -84 -46 -101 -74 -59 -899
Fa ] il -109 -96 -47 -135 -167 91 -7 —42 -53 -92 -59 -98 =50 -937 Fa [if] il -109 -96 -47 -135 -167 91 -7 —42 -53 -92 -59 -98 -50 -937
",ﬁ' fe X A ﬁ =50 =20 -106 -81 -147 -126 -38 —66 =70 -108 -45 -93 -82 -982 ",ﬁ' Fe X B ﬁ =50 -20 -106 -81 -147 -126 -38 —66 =70 -108 -45 -93 -82 -982
i F il 186 134 =72 =770 -101 =51 -14 -10 -58 =70 6 -33 -25 |-1,064 i F il 186 134 =72 =770 -101 =51 -14 -10 -58 =70 6 -33 -25 |-1,064
H ba ﬁ -174 -180 -316 =207 -435 -177 -233 ~138 185 -210 -201 -189 246 -2, 7117 H ST ﬁ -174 ~180 -316 =207 -435 -177 -233 ~138 185 -210 -201 -189 246 -2, 7117
& 3t -624 -16 -829 2,176 4,397 -216 -1,093 -1,134 -1,251 -960 -1,216 1,271 -1,099 |-15,658 & 3t -624 -16 -829 2,176 4,397 -216 -1,093 -1,134 -1,251 -960 -1,216 1,271 -1,099 |-15,658




